


10.

11.

12.

13.

14.

Quor$s aumomer eufl euHeUTeP W Saiés (iiser :

.
BT HTev pPOFET HFMTUID [+] 4,00,000
GDEWL ST EPOSET GILpLIL [-] 80,000
cuemfla @)L (-) 1,00,000

Calculate taxable capital gain from the following: An asset was
purchased in 2008-09 for Rs.2,50,000. The asset was sold for

‘Rs.10,50,000 in the previous year. (CII: 2008-09: 137: for

2018-19: 280).

2@ Qsngg 2008-09 G ¢5.2,50,000 @ps Qenss WpmsL BTG
:10,50,000 &5 edpsiuliig  afl  gpesET  PSTUSHS
SaTES (D RISET. ‘

(CII: 2008-09: 137; for 2018-19: 280).

Calculate gross interest.if Rs.5,00, 000 is 1nvested in 9% tax free
securities (unlisted).

5.5,00,000 9% eufl Qaveus LgSlThisatie (LII_Lq_u.IGIS]L_Lll_ILI'I'g,) TERC)
Qelwliu@ang. Qwrss e g asm‘ra;é;]@a; )

Expand CBDT, TRO, CIT, CIN.

efftleurgsid s : CBDT, TRO, CIT, CIN.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

What is cost of acquls1t1on" How would you determme cost of
acquisition?

@SWHILI(HS56 Qeevay eTanmmed GTaTes? ma;uasuu@g,g;a) Q&eoeqesmen

eriug SromeflLiSrger?

Compute the capital gain for the assessment year 2018-19 from
the following: '

Date of purchase of house — May 1987
Cost of acquisition — Rs.1,80,000
Fair market value as on 1.4.2001 — Rs.6;00,,000
Sold the property in 2018-19 — Rs.l4,00,(_)00
-Cost inflation index :2018-19 — o o 280 -
2 62454/CVZ6A/
CPG6C/CVC6A

A, pCaéy eramueui garayeLw 2018-19 A eyamiqed efpLamar
Qoiis Qerggy oughsedar shsidtemmi. @eumeLL  POSET

BTGNS HauTss (s 4.

GUUIPTRISET 4L ERTIBISET S6rLD LA
fpuenar eflenew ] 3,00,000 15,00,000 2,00,000
eipLiener Qeavay 4,500 20,000 1,000-

UL sye® ©1-12-1978  1-12-2007 1-12-2012
QaEmaTp s 3L &&LD 12,000 75,000 . 50,000
Blumuwrer sbeng ' 20,000 - - ;

gy 1.4.2001
(216f.@.:  2001-02 100, 2007-08 : 129, 2012-13 : 200, 2018-19 : 280)

7 62454/CVZ6A/
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LULLw  sewdar gas@flu  eumorer  efuptisamer | emeusomm
®5n®§gmmnﬁ. Sleu@BLL QwTss eumeuranii mé,\&lﬁL@l@;ﬁm@
2018-198@ savsd (s

(WE

(=) Qazmfler ey muid ; - 52,400

(@) Quaduie o dtar eSiyharan aurens 18,000 (eiHEE)
(@) msym & e | ' 1,500'(%6‘1;@@;@)
() B gme epegar HLL b ' 10,000
(2) eufldsiL ugd G'r_w’aﬁlrﬂmmuu_lr.rmr'r giuemd 25,000
(eer) 'a;rrefanabrﬂcsi) LG e s Qsgisdlug (wrgib) 2,000

(a1) s devemunseiall b eul g euomeand 19,000

23. Explain the treatment of agriculture income under the income

tax act.

au(poren cuflé s L gdlar E1p efleusmu eumeumenwits L aﬁlme'seseud?,
24. Mr. Mukesh gives the following particulars about the assets sold

| during 2018-19
Particulars Jewellery House Listed
Debentures

Selling price 3,00,000 15,00,000 + 2,00,000-
Selling expenses 4,500 20,000 1,000
Date of pulrchase 1-12-1978 1-12-2007 1-12-2012
Cost of purchase 12,000 75,000 50,000
FMV as on 1.4.2001 20,000 - -

CII: 2001-02 100, 2007-08 : 129, 2012-13 : 200, 2018-19 : 280
Calculate the amount of capital gain.

6 : 62454/CVZ6A/
/ CPG6C/CVC6A

15.

16.

17.

- LEUGL G parrar 2018:19 & epasar @ sTUGmS sansSHs.

SO i Cod) — G 1987
SILES eflenad iy —  .1,80,000
gheng AL 1.4.2001 . —  5.6,00,000
Qs ol pLianar 2018-19 | — .14,00,000
Qeevey Laelss GHSL @ erewr : 2018-19 — 280

Explain various kinds of Agricultural Income.

L Geug efigiorer efleusmu auponanismen el

From the féllowing details find.out Income From Other Sources:

(a) Director’s fees - Rs. 15‘\,00'07
(b) Divi&end from Indian c_:o»r‘n_pany | - Rs.v14.,(')00
(¢ Income from Horse' race - Rs.'10,000
(d) Royalty from books - Rs.19,000
(e) Dividénd -frqm co-operative sdciéties .- Rs.13,000

Qemaumid eflLiprisailelBis Qa7 Qar cimorarsms samrsdHs.

(=) QuEEBHT sLL_ewrid " - @.15,000
(=) Sb@u@ﬂuﬂe&@;ﬁg Quﬁ)g).uréja;rrg,rru_nib - @.14’,000
(8) ©dorupsusHdmhs QuDD iELTaD - ¢m. 10,000
()  UssssgsaTar @ggmé;. | - @.19,000
(2) &L QDo srEGgIGEMaN LEISTSTWLD : .13,000

From the following particulars, calculate Total Income:

Loss from business e ‘ Rs.4,00,000
Depreciation allowance for the A.Y. Rs.80,000
House property income Rs.8,00,000
Items qarri_ed_ forwé;r'd' from earlier years : . l ’
Business loss of A.Y: 2012-13 - Rs.4,80,000
Unabsorbe(i depreciation ' 'Rs.2,00',000

3 ; .62454/CVZ6A/
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18.

19.

Yereumid eugiisafledphg Gorss eumwrarsms sarsd (s

eflwirumy B b em.4,00,000
HUSL O e EeTer Gg,umrrmuulq_ e5.80,000
&S (p) Q&msg eu(mLomend e5.8,00,000

(PHMSW ey e perCarmédl QsSHLILL L B)ahiser :
eSlwruimy B b AU H LD
SIS err® 2012-13 e5.4,80,000

Siflwiu_rg Csuirend . @.2,00,000

Find out the inflated cost in following cases (separately for each

case) for the assessment year 2018-19.

: Rs.

(a) Cost of plot acquired in 1986-1987 - 90,000
FMYV as on 1-4-2001 , 3,00,000

(b) Cost of house purchased in 1979-80 80,000
And the fair market value on 1-4-2001 being 3,560,000

(¢ Cost ’of house purchased in 1976-77 ~2,00,000
" but F.M.Von 1-4-2001 was 15,00,000

[C.I.I:2001-02 = 100, 2018-19 : 280]

Sparamid Hevewaaller (geaQeurmp Hooyb salurs) i ss oo
uemeisasens eufl eQFLiuran® 2018-19685T8 sreims.

.

(1) 1986-19876 aurmiflu Cungy oiLssellane _ 90,000
1-4-2001 e Hlwimuiorer gheng ELILY 3,00,000

(=) 1979-804 65k Qamarpged Qsiig oiLsseiana 80,000
1-4-2001 ey Humuioren shens wAL 3,50,000

(@) 1976-776 eunudlw oS g.60m afenew 2,00,000
1-4-2001 yemm) Hlwmwinrer sHang L 15,00,000

[«1.69.@ : 2001-02 = 100, 2018-19 : 280]
Explain any five due deductions from . gross total income for
expenses made.
Gewaiamsepsstar ol (G Qurss amearilad Qmbs gCamib RHs)
S6TEnLlg s EGsmenub elleTdseyib.

4 62454/CVZ6A/
' CPG6C/CVC6A

20.

21.

22.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the savings that qualify for rebate u/s 80.
9ifley 80uflen £1p siews QUi CaBlliysmer eferé@ hiasar.
Calculate tax liability from the follownlg information given by

MI‘ B I\

He was receiving a salary of Rs.8,000 per month, apart from
conveyance allowance of Rs.300 per month (Rs.150 per month
actually spent).

He had an house whose GAV is Rs.1,50,000, Municipal tax
Rs.3,000 out of which Rs.1,500 is paid by the ténant.

His income from other sources comes to Rs.45,000.
He has contributed Rs.40,000 to PPF.
He paid Rs.5,000 towards medical insurance premium.

w9 TeuemaLw  eumobrer  edumismar SIS T U
Qs Mefggieamit. Sieurs) eumwrar euflulenar samsdHe

Qe wrgb eeam&eE m.8,000 sbLatorseywb, LIOMILLIGWITE ¢F.3001d
Qugdpr. (Aseei Ll L Qsmens wrsw ¢5.150),

Qe Aaram@erar oS yen Quorss wHL : 5.1,50,000 payrSeufl
t5-3,000 2ifled ieurg eurLensgym Qarhsss @p.1,500

Qaurg Qs Qe cuporaniser ip.45,000
Qeuir Quig Cow paflPée ep.40, 000 Uisafggeari
@@m t5.5,0008emg @msgies sTUEH (pavanuions Qeqsdujeararnm.

A Chartered Accountant has supphed the following particulars.
Compute his total income for the assessment year 2018—19.

Rs.
(a) Professional gain : 52,400
(b) Rent received from houses at Delhi 18,000 p.a.
(¢) Municipal taxes 1,500 p.a.
(d) Long-term capital gain (Loss) 10,000
(e) Part time salary as lecturer in taxation laws 25,000
() Rent paid at Kanpur _ : 2,000 p.m.
(g) Interest on Govt. securities ) 19,000
' 5 62454/CVZ6A/

CPG6C/CVC6A



